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001 | T & @ & 508 547 652 1,199
002 | #& X i) 668 758 797 1,555
03| F &F M fr 349 328 307 635
004 | & 5 i3] 962 1,135 1,049 2,184
005 | X i3 i) 721 829 861 1,690
006 | £ & F M 1,364 1,638 1,526 3,164
007 | #& e i3] 169 246 192 438
008 | 5 it i3] 804 920 931 1,851
009 | XK & i) 551 711 691 1,402
010 | & H i3] 1,118 1,417 1,499 2916
011 * B OF M 686 825 849 1,674
012 | b # i)} 885 1,092 1,273 2,365
013 | 8h H i3] 559 719 810 1,529
014 | & & i)} 866 1,041 1,071 2,112
015 | Bx AT 113 134 157 291
061 XRHE —TH 31 30 21 51
062 | XFHET_TEH 222 206 202 408
063 | X ZET=TH 3 30 54 84
064 | X ZET MW TH 98 106 116 222
071 | £HAH—TH 38 28 45 73
072 | £BHAEB-TH 252 250 222 472
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081 | M BT — T B 0 0 0 0
082 W E Z— T H 32 766 69 835
083 e =TH 164 163 183 346
091 filb 3% BT — T H 74 78 94 172
092 L BT =T B 66 232 379 611
101 A E— T H 104 104 102 206
111 LTEHBE—TH 121 140 123 263
112 LTEHE_TH 83 70 61 131
113 LTEHE=TH 108 100 121 221
114 LTEHEMTH 157 144 165 309
115 LTEHATH 141 106 154 260
116 LTEHBATEH 147 125 130 255
117 LTEHETH 132 149 161 310
118 LTEH/NTH 140 157 139 296
121 EBFH—TH 76 62 74 136
122 ERBRFHI_TH 51 69 62 127
123 EBFH=TH 76 69 87 156
124 EBFHMOTH 73 69 51 120
125 EBFHEATH 91 100 97 197
126 EBFHATH 155 130 130 260
127 EBFHETH 143 95 154 249

& it 13,101 15,914 15,861 31,775




